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UNIT 5 d LESSON 3
Do Now:

a. Is the following sequenc@r geometric?
7,14,21, 28

..... d = W-1=[1]
b. Write an explicit formula for the above sequence.
O\\’\ZO\‘*’ (n_Dd Qn:r]nl
Qi T4 (n-1(T1) |

On="1+ In-7]

c. Using the formula, find the 8#4 term of the sequence.

Og =7(2)

AIM: RECURSIVE FORMULA

1. Could you state the term values for terms five through eight without using the formula?
7,14, 21, 28.....

Q=71

ng\Ll
O>=al
Qq-=a%

Recursive Formula

e Dependent on the previous term to develop a pattern.
e Gives you the n™ term of a sequence using the term before, n-1.

e To find a term using a recursive formula you need the previous term to find the next one,

a. = first term —{always state
ay = the first term in the sequence ! first term
a, = the n” term in the sequence a =a . +d MathBits.com
a,.1 = the term before the »” term non
n = the term number previous| { common
d = the common difference. term difference

giq Qﬁ""'&n-f\ + d
1 0=, On= O+ 7 1




2. Use the following to find the first 4 terms of the sequence:

a=-2 Q. = 9
T Oss —g_;,;_,,l
pre\nous Q =) + 3 L
Herm W"‘M
O\v—\ =453 =)
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3. Write the first 5terms of the recursive sequence:

a =—4 - L
aj, =a,  +5 a ‘

* 4. Write the first 4 terms of the recursive sequence:

K’ a =12 a, = 12

=a + /’
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(;a,lq, 6,19)




To summarize the process of writing a recursive formula for an arithmetic sequence:

1. Determine if the sequence is arithmetic (Do you add or subtract the same amount from one term to the next?)
2. Find the common difference. (The number you add or subtract.)
3. Create a recursive formula by stating the first term and then stating the formula to be the previous term plus the

common difference,

5.

b)

State recursive formula for this sequence: 7, 11, 15, 19, 23, ... O N ~ QY\- \ 3% d

O, =] d=11-"1=4 d
‘ N = Qa-Q,
\ Qn = O\n—\ "'L\ | ;

State recursive formula for this sequence: 3, 5 7,9, 11,.

d-53-2
e

State recursive formula for this sequence: 32, 38, 44, 50, ... d, 5 ,
=38-38- (,

0.=279
On‘ Qr\-\ + ‘-0

Consider the sequence following: 35, 30, 25, 20, 15, 10, ...

Write a recursive formula for the sequence. d e A0~ 0 - oy

_O\\ =55
Qn = O\n-\ "5

Write an explicit formula for the sequence.

O\n':: Q‘ 4 Cﬁ—\vd
Op= 25+ (r-D(ED)
ay\':r 56 "‘5*’\ ¥ 6

an - L"O "6r;-

ind the erm. Which formula i ier to use \C\x bl W d&l’"\‘-\*
Find the 18th term. Which formula is easier to use? Why? e}fg\\\je\ -*hc\ P\(“@\J'»ENS V.
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